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And a limb from a live animal to 171 12 — 173 °32% 17 372 AN

Overview

The X713 cites a X172 which states that one may not serve 177 71 72X to 12
i (because he is transgressing the MoK of 2Wwon 1NN &Y MW *105, for n1 °12 are
prohibited from eating 11"722X). This indicates that he may, however, serve it
to his dogs, indicating that r1"'722R is permitted 7X172 even though the 7710
writes 7280 &7, Our moon discusses the validity of this inference.

MooIN asks:
— 999913 %993 bYW NN 19 9aN27T 1122 NN

It is astounding! Since this Xn>71 is discussing an 1''7722K8 which belongs

to a1 -
— (0w 2,097 "D NAY NIDNT NNP D93 VINTI
As the Rn3 states in the first P95 of "'y noon concerning this Xn»721 -
— 117 XY NP XYY VIV XY 2INPTNH
Since the Xn* 12 reads ‘he should not extend to him’ and it does not state

‘he should not give it to him’. This concludes the citation and inference from the X123
in 1"y. This proves that the Xn» 71 is discussing an 11"7122X which belongs to a 1.

mooIn concludes his question:
— 293y 9309 INY IN ANINA YW 997 9957 19 BN

" The xm3 there queries whether the 110X of selling animals to a >33 prior to their holidays is because they
will praise their idols (for the profit), or because (the »121 will offer it as a 1"¥% 129p and) the x> will
transgress MW *19%. The difference will be if the *121 owns an animal; there will be no 7 °19%, since he
already has an animal to offer. The X3 asks that there is 71 *197 even if the >731 already has an animal and
cites this Xn72 as proof. The X n3 responds that there is no proof from this Xn»72 for we are discussing a
case where the 721 cannot acquire the n"nmaR (for it is across the river [X7717 »M2y °7n2]). The X7
concludes that this is indeed evident from the 1'% of the Xn»12 since it says w1 and not jn° this implies
that the 121 cannot acquire it himself. This concludes the citation of that X*»0. The *"1 explains M»oIN
proof (in response to the s'X"win question) that since the p1°7 infers that we are discussing X7737 *72y "3,
then it must be discussing where it belongs to the >33, for if it belongs to the 7%, then he is always 72w
71w *19%, for the »121 cannot take it himself, since it does not belong to him.

Alternately; it is evident from the X713 in "'V that it understands this Xn>3 of vwy X? is discussing where
the n"7mak belongs to the »>1. Otherwise why does it cite this X121 (to prove that W 197 is prohibited
even if the »721 has an animal)? This is what N1901n means when he writes '1"y7 "52 nKX72". The question is
why indeed does the X713 there assume that it belongs to the "11? N1901n explains because if it did not belong
to the »21 the Xn>>12 should have stated 10 XY instead of 0w X7. See footnote 64 W"R7;7 NMDOINA.

*If the n";m2x would belong to the Y%7, then the inference is understood. One may not gift to the *121 an
n"7maR on account of MY °19%; however the gifting to the 0°295 would be permitted, even though that the
S8 is benefitting from gifting his 1";722X to the 0295 (of the *131). The 31 appreciates the 1"7m2ax that
the PR is giving to his 295. This proves that n"722X is X172 1NY; otherwise this gifting would be 710X.
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If this is so (that we are discussing 1177228 which belongs to the °131) how
does the X723 infer that n"772X is X172 9N were it not for the MoX of
2w "1 ?!

MooIN answers:
—>nN3N $DINA 99NVAY NONRT VIWINY NN NN Y9WaT 1997 MY YN

And one can cay; that since it would be forbidden to extend the 17"7712X to

the 721 for payment, for it is prohibited to profit from 1'"'70°R; and -
— (N2 97) “nat N Ay NNt NAMa 7992 YNPYNTI 9510 199V T1ayr1T 2) HY 9N

Even though that the profit from 1"mM0°X is permissible once it was earned

as is indicated in the last =5 of "'y noon-
— AYNNY MON DY) YN

Nevertheless initially it is forbidden to profit from 1"mox -
— S4901Wn5 25WN 1210 MY 052919 129N 1Y P2INNY NNIT ION I DIN

And therefore it is forbidden to be v*¥1 an 1"MO*X to the 721 even for free,
for the implied appreciation that the 951 extends to the X is
considered as profiting for the Sxw".

mooIn anticipates a difficulty:
= N2 PIPT PN TUI 1P NNYO NN ON 2) (3,35 xywn xaz) NINOYM 1IN )02 9INRT XY

And that which the X773 states in the end of nIR"x» Y98 P75 concerning the
case in the &n> 12 ‘if the animal was laden with 991 3% he is not required to

assist in unloading her; the X713 comments -
— 1Y PP PN ONAN RIIINT DN $9¥2 P8 NN ON)

‘And if you maintain that 21 Y2 2vx is a Torah commandment, why is
he not required to assist her to unload?’ This concludes the citing of that X3,

Mmoo continues with his question:

However in this case where the n"mnar belongs to a 121, nothing can be inferred. The % w> cannot be
considered benefitting from n"mak when giving to the 0*1%5 something which belongs to the »331. He is not
deriving benefit from the 1"7naX. The 721 cannot appreciate the 1"AnaR which his dog receives for it
belongs to the *721. At most the 121 appreciates the effort and exertion of the X" to serve his 272, but not
the n"mnar which belongs to the »21, not to the 78 w°. Seemingly even if n"7max would be 78172 MoK, the
5% should be permitted to feed it to the 0°275. The Xn>12 is merely teaching us the extent of My 197 (that
it applies even when it belongs to the »33).

3 This MoX is even if the 179X do not belong to a & w». It is forbidden for a X, for instance to
transport 1" MoK for a >33, for he is AX17 *O°X2 1DNWA. See the X3 71wn in X,20 1'V.

* The X3 there states that if one sold 1"10°x and was w7pn with the money it is a valid PwI7p.

> Therefore since the prohibition to be ™1232 1"anax vw is only because of ¥"197; this indicates that n";ax
is X372 N; for otherwise it would be 710K for the YR W to be vwn since it is considered 1"710°X2 NWAH.
(It presumably would have been 710X to give it to the dogs as well.) See ‘Thinking it over’.
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— DINAI1DON YIONI NNIN 2IIDVIND 99NYNI 3PYNT 2) Yy 9N
And even though it is considered as if he is profiting from 1"mg’X which

is forbidden even it is done for free as noIn just explained. How can the xn3
ask that if 0>n Hv2 ¥ is X187, he should be required to assist?! But that cannot be for
he is profiting from 1"Mo>x?!

N1B0IN answers:
— 113V 19 POINOY 1MANNM 1INRT 11D BIPNI Yan

Nevertheless since he has no intention that the °721 should extend his

appreciation -
— VY 6111:’)3 NDY VAN NY 195 25WN 0N Hya 98 DIVNY

And because there is also 21 %¥a 22 (which is a 770 concern), therefore
it is considered like a case of ‘it is not possible and he has no intention’,
where the ruling is that it is permitted.

mooIn offers an alternate solution:
£ 1D PITNN INT 9993 2392 NIV 1D2AN 7YY ¥Nvn NY PIPT 1PN 9191 ON

Or you may also say; that the phrase "% P37 X' indicates that he is not
required to unload even where it is not in the presence of the 121, in

which case the °721 is not 73y 21 for the X w». Therefore the X723 rightfully
asks that he should be required to unload since Xn7IX7 1"¥2 7YX and he gets no 7R3 at all
(so there can be no MOX).

Summary
A X is forbidden from assisting a 121 [even for free] to acquire 1"70°R

which belong to the 21. It is considered as if the PXw° is benefitting from
1"Mo>X. The exception is if it is 1127 Xp R?Y WwdK X7 (or if the *721 is not
aware that he is being assisted).

Thinking it over
mooIn initially assumed that there is no 710°X in handing a >731 his 1"M0X (as
opposed to gifting him 1"Mo>X that the PXw> owns). No0IN concludes that it

% See 2,72 19pY. This is referring to a case where the person receives X317 from an 2"va o°X, however if he
cannot avoid the 7o°X and he has no intention of deriving 7X17 from this MoK, then it is permitted for him
to receive this 3"v2 1X37. An example of this would be if a person is traveling and the road takes him past a
"y n°2 from where there emanates a pleasant fragrance. If he has no other way to travel ("wsR &?) and he
has no intent to enjoy the fragrance (1113°1 &?) he is permitted to pass by and inhale the fragrance. Similarly
here it is TWdR XY since XN™MRT 1"va vx (therefore he must relieve the animal from her load) and it is X%
1119°n for the X" is not interested in the 721 npInn of the 2™y therefore it is permitted.
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1s MoK (even 0i731) for he is AXIT *MO°X2 DNwH. What changed from the
question to the answer? Is there any difference between handing the 731 his
1"mo°K and gifting him the 1"MoX of the Y87’

7 See Rnp MR 2" and 707 TN,
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